>4
SIE

I-]

I~

2003.7.1 HEKBAX

F 12

REE | (EHE

A [XE#




[BEARREDHTE]
[fE2XREZE | (sampling error)
MiEAMMEBICK HRE
* FREZEHLEGN
* WEXRMITIRFED
* BEEREHL/KRZWNVZEREZEDESTHEL /NS

» [HEETRIIER]] [CK > TEHBEZHEETED

2



[FEREBREDRE]

FRENH D
i >

TI,

BREZRIZLNS &

BEXSHNIE. HeTrIH
ER R EHTELTKLY,

> = D) ‘j:f'l

A

» HEERKDE

=

A

I2EATESES

N—n

N5 n

B

ZDWNTEZR D

1
~- D’
(N-Dn n SE

R OD

DIRR % F&

(¥

3



*

*

*

[l%lzlzi’]ﬂ_@?’éml

FHERERDFEHEIL, = [ D EH{E
Um(&?#Uﬁ(&OFU?%
ZTDIEsD2ZFIE, BEHAIZCEIFTAIE LD
=ENINES L, BEREHAKREWNZTE/NSL

TS
LML FEHHICHANIETEBERDFEBHEIC
— I HELHFTES

4



*

EAD T EAE

[EHIEDEFERXRH]

P DIRENDE

X TRE

=

TIEL

F

EHEMSIET N

DHERIIERTMICLI=A D

-
0)_

BAREHEMFERETNIL,

CHEDWERE S (¢

)I‘.‘.TF
2T

53 %m) 75\1075\%6




|
}‘l"l‘

HDFEHEDIEZR S A bl &
d%REITYEELTAONARXMEZE
(100— @)% ® TEFERME1 &Ly5,

a%x [EEZE]. (100—a) Z [{EFEFR] L1V,
COEIFXBARIZCERDTLLDEDL, BRIl
a@=5% & LT. B5%IEERMBERKRDH B,




EREXHEDEESH M-

B SR T 1{E 0D
ﬁ

95%{E %8 X [H]

/ A
—1/ \—
T{H12.5% 5= f F{A12.5% 5
3
EARDIEHE

7



CHEDFERBRRBORH LT DIE

m * 1.96><S—D

AT ‘ n

[ BRR{E




[SPSS O<T Y
[#7] — TEEa#gaET) — THEEZRRY

~]

©
© 7/

F

[=
1

%ﬁk

2L THETE

IJLET®O TgET] FFzFo vy

X EREE

=1

A

¥ ZIEEIT H &

ZEHET BHIZIE T§#ET) ZEIR
BRIIZOITES

9



[FRRE]
EHEEMIZDOLT
FIEAN
Bzl
DEHELEEXRBZH EH.
55 7% <

10



